g2l e B

EM OpR2]:
EE, Yxizl & Aot
Hal e 2 A2 LAY AEE R 2]

=Ll

2T Tl Zols 12 FoilM S-Sl I A =-stoF gfuct

Xl CcE 7t3E[X| i 2 defel 2RE £ Zo|& FolgLct.

Xl Ce 1 FoM SEE FH XA Z=HsHok ghLict

a# chEol LEA X[+ JE 2 R4E Eloi| HEFsHioF 2Lt

2 E ZolE AYsltdiH =& =S FHZEsH ok &Lct

ST T2 SHE M Zo|Z 7tSstn LI, @8 = HE F /e O
HE LIALZ 2% Elof n¥stn &Lt

AMIME:

ChSofl CHaH:

K0910.3240... K0910.005050 % K0910.0060508,
K0910.4050... K0910.008080 & K0910.0100808

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



( ]
Sug o
=0
— E {— e C* B
H T - F "
LI:—- -l — -il—

‘ WV I avg/ 0.8
= i | . . . . . . cs* L &
[ 1 D % %

NN \//// 4"

£ 2%
sy &
FTEHsS A B C D E F G H J T
K0910.005050 5 5 50 10 10 17 3 M3 M3x4 3
K0910.006050 5 6 50 10 10 17 3 M3 M3x4 3
K0910.008080 8 8 80 16 15 22 4,3 M5 M5x5 4,5
K0910.010080 8 10 80 16 15 22 4,3 M5 M5x5 4,5

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



